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1. With reference to Mughal India, what

is/are the difference/differences
between Jagirdar and Zamindar?

1. Jagirdars were holders of land
assignments in lieu of judicial and
police duties, whereas Zamindars
were holders of revenue rights
without obligation to perform any
duty other than revenue collection.

2. Land assignmenis to Jagirdars
were hereditary and revenue rights
of Zamindars were not hereditary.

Select the correct answer using the code
given below.

(a} 1 only
{b) 2 only
fc) Both 1 and 2

{d) Neither 1 nor 2

2. With reference to land reforms in

independent India, which one of the
following statements is correct?

fa} The ceiling laws were aimed at
family holdings and not individual
holdings.

{p) The major aim of land reforms was
providing agricultural land to all
the landless.

{c) It resulted in cultivation of cash
crops as a predominant form of
cultivation.

(d) Land reforms permitted no
exemptions to the ceiling limits.
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3. The Global Competitiveness Report is

published by the :
{a) International Monetary Fund

{b) United Nations Conference on
Trade and Development

{c} World Economic Forum

{d) World Bank

4. Consider the following statements about

¢he Charter Act of 1813’ : ~

1. It ended the trade monopoly of the .
East India Company in India except
for trade in tea and trade with
China.

2. It asserted the sovereignty of the
British Crown over the Indian
territories held by the Company.

3. The revenues of India were now

controlled by the British
Parliament.

Which of the statements given above are

correct?

fa} 1 and 2 only
(p) 2 and 3 only
{c) 1 and 3 only

{d 1,2 and 3

[ P.T.O.
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5. With reference to Swadeshi Movement,

consider the following statements :
1. It contributed to the revival of the

In which of the following relief sculptuire
inscriptions is Ranyo Ashoka’ {King
Ashoka) mentioned along with the stone

indigenous artisan crafts and portrait of Ashoka?
in_dustries. (@) Kanganahalli
2. The National Council of Education
was established as a part of (b) Sanchi
Swadeshi Movement. {c} Shahbazgarhi
Which of the statements given above {d) Sohgaura
isfare correct?
{fa) 1 enly
(b) 2 only 0, Consider the following : '
() Both 1 and 2 1. Deification of the Buddha
{d} Neither 1 nor 2 2. ‘Treading the path of Bodhisattvas

3. Image worship and rituals

6. Consider the following pairs : '
. : Which of the above is/are the feature/
Movement/

Leader features of Mahayana Buddhism?
Organization
1. All India Anti- : Mahatma Gandhi {aj 1 only
Untouchabi]ity (b) 1 and 2 only
League
2 and 3
2. All India Kisan : Swami Sahajanand () 2 and 3 only
Sabha Saraswati (d) 1,2 and 3
3. Self-Respect . E. V. Ramaswami
Movement - Naicker

10. With reference to forced labour (Vishti} in

Which of the pairs given above is/are
correctly matched?

fa) 1 only

(b} 1 and 2 only
fc) 2 and 3 only
(d 1,2 and 3

7. Which one of the -following is not a

Harappan site?
{a) Chanhudaro
(b) Kot Diji

{c) Sohgaura
(d) Desalpur
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India during the Gupta period, which
one of the following statements is
correct? '

{a) It was considered a source of
income for the State, a sort of tax

paid by the people.

{b) 1t was totally absent in the Madhya
Pradesh and Kathiawar regions of
the Gupta Empire.

{c) The forced labourer was entitled to
weekly wages.

(d) The eldest son of the iabourer was
sent as the forced labourer.

= |PTO.
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11. Building ‘Kalyaana Mandapas’ was a

notable - feature in the temple
construction in the kingdom of

{a) Chalukya
(b} Chandela
{c) Rashtrakuta
{d) Vijayanagara

12. Consider the following statements :

1. In the revenue administration of
Delhi Sultanate, the in-charge of
revenue collection was known as
‘Amil’,

2. The Iqta system of Sultans of Dethi
was an ancient indigenous
institution.

3. The office of Mir Bakshi’ came into
existence during the reign of Khalji
Sultans of Delhi.

Which of the statements given above
is/are correct?

14. With reference to the British coloﬁial

rule in India, consider the following

statements :

1. Mahatma Gandhi was instrumental
in the abolition of the system of
$ndentured labour’.

2. In Lord Chelmsford’s ‘War
Conference’, Mahatma Gandhi did
not support the resolution on
recruiting Indians for World War.

3. Consequent upon the breaking of
Salt Law by Indian people, the
Indian National Congress was
declared illegal by the coionial
rulers. '

~ Which of the statements given above are

correct?

{a) 1 and 2 only
fb) 1 and 3 only
{0 2 and 3 only
(d 1,2 and 3

{a) 1 only 15. With reference to Indian National
{b) 1 and 2 only Movement, consider the following pairs :
fc) 3 only Person Position held
(@ 1,2 and3 . Sir Tej Bahadur : President, All India
Sapru Liberal Federation
13. Consider the following statements : 2. K. C. Neogy . Member, The

1. Saint Nimbarka was a contem-

‘ Constituent Assembly
porary of Akbar. '

3. P. C. Joshi : General Secretary,
2. Saint Kabir was greatly influenced Communist Party of
by Shaikh Ahmad Sirhindi. India

Which of the pairs given above is/are
correctly matched?

fa) 1 only {at 1 only

(b} 2 only (b) 1 and 2 only

Which of the statements given above
is/are correct? '

{fc) Both 1 and 2
(d) Neither 1 nor 2
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fci 3 only
{d) 1,2 and 3

[ P.T.O.
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16, With reference to Mian Tansen, which

one of the following statements is not
correct?

{a] Tansen was the title given to him by
Emperor Akbar.

(b} Tansen composed Dhrupads on

Hindu gods and goddesses.

{c}  Tansen composed songs on his
patrons. :

(d) Tansen invented many Ragas.

17. Who among the following Mughal

Emperors shifted emphasis from
illustrated manuscripts to album and
individual portrait?

{a) Humayun
(b} Akbar
{c) Jahangir

{d) Shah Jahan

18. Which one of the following National Parks

lies completely in the temperate alpine
zone?

{a) Manas National Park
(b) Namdapha National Park
fc) Neora Valley National Park

(d) Valley of Flowers National Park

BKL-F-GHP/B4A

19. Atal Innovation Mission is set up under

the

fa) Department of Science and
Technology

{b) Ministry of Labour and
Employment

{c} NITI Aayog

{d} Ministry of Skill' Development and
.Entrepreneurship '

20, On 2ist June, the Sun

{a} does not set below the horizon at
the Arctic Circle ' '

{b) does not set below the horizon at
Antarctic Circle

fc} shines vertically overhead at noon
on the Equator

(d) shines vertically overhead at the
Tropic of Capricorn

[P.T.0."
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21, Which one of the following groups of

plants was domesticated in the New
World’ and introduced into the Old
World"?

{a) Tobacco, cocoa and rubber
{b) Tobacco, cotton and rubber
fc) Cotton, coffee and sugarcane
{d) Rubber, coffee and wheat

22. Consider the following statements :

1. Asiatic lion is naturally found in
India only.

2, Double—humped camel is naturally
found in India only.

3. 'One-horned rhinoceros is naturally
_found in India only.

Which of the statements given above
- isfare correct?

{a) 1 only

(b) 2 only

fe) 1 and 3 only

(d 1,2 and 3

23. Consider the following pairs :

Famous place River
1. Pandharpur Chandrabhaga
2. Tiruchirappal]i : Cauvery
3. Hampi Malaprabha

Which of the pairs given above are
correctly matched?
fa) 1 and 2 only
| {b) 2 and 3 only
fc) 1 and 3 only
(d 1,2-and 3
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24. In a given year in India, official poverty

lines are higher in some States than in
others because

{a) poverty rates vary from State to
State '

{b) price levels vary from State to State

) Gross State Product varies from
State to State

(d} quality of public distribution varies
- from State to State

25. In the context of which of the following do

some scientists suggest the use of cirrus
cloud thinning technique and the
injection of sulphate aerosol into
stratosphere?

{(a) Creating the artificial rains in some
regions

{p) Reducing the frequency and
intensity of tropical cyclones

fc) Reducing the adverse effects of
solar wind on the Earth

{d) Reducing the global warming

26. In the context of which one of the

following are the terms Ppyrolysis and
plasma gasification’ mentioned?

fa) Extraction of rare earth elements
(b) Natural gas extraction technologies
{c) Hydrogen fuel-based automobiles

{d) Waste-to-energy technologies

[P.T.O.
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27. Which of the following are in
Agasthyamala Biosphere Reserve?

faj Neyyar, Peppara and Shendurney
Wildlife Sanctuaries; and Kalakad
Mundanthurai. Tiger Reserve

(b} Mudumalai, Sathyamangalam and
Wayanad Wildlife Sanctuaries; and
Silent Valley National Park

fc) Kaundinya, Gundla Brahme-
swaram .and Papikonda Wildlife

Sanctuaries;  and Mukurthi
National Park

{d) Kawal and Sri Venkateswara
Wildlife Sanctuaries; and
Nagarjunasagar-Srisailam Tiger
Reserve -

28. Consider the following statements :

1. Some species of turtles are
herbivores.

2. Some species of fish are herbivores.

3. Some species of marine mammals
are herbivores.

4, Some species of snakes are
viviparous.

Which of the statements given above are
correct?

fa} 1 and 3 only
(b} 2, 3 and 4 only
fc} 2 and 4 only

@ 1,2, 3 and 4
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29, Conéider the following pairs :

wildlife Naturatly

found in

1. Blue-finned Mahseer : Cauvery River

2. Irrawaddy Dolphin : Chambal River

(1]

. Rusty-spotted Cat : Eastern Ghats

Which of the pairs given above are
correctly matched?

(a}
{b)
(c)

{d)

1 and 2 only
2 and 3 only
1 and 3 only

1,2and 3

30. Why is there a great concern about the
‘microbeads’ that are released into

environment?

faj They are considered harmful to
marine ecosystems: ’

{b) They are considered to cause skin
cancer in children.

(¢} They are small enough to be
absorbed by crop plants in irrigated
fields.

{(d) They are often found to be used as

food adulterants.

[P.T.0.
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32. For

31. Recently, there was a growing awareness

in our country about the importance of
Himalayan nettle (Girardinia diversifolia)
because it is found té'be a sustainable
source of

{a} anti-malarial drug

{b) Dbiodiesel

fc} pulp for paper industry

(d) textile fibre '

the measurement/estimation of

which of the following are satellite

images/remote sensing data used?

1. Chiorophyll content in the
vegetation of a specific location

2. Greenhouse gas emissions from

rice paddies of a specific location

3. Land surface temperatures of a .

specific location
Select the correct answer using the code
given below.
{fa) 1 only
(b} 2 and 3 only
fc) 3 only
(d) 1,2 and 3

33. Consider the following States :

1. Chhattisgarh

2. Madhya Pradesh
3. Maharashtra

4, CQdisha

With reference to the States mentioned
above, in terms of percentage of forest
cover to the total area of State, which
one of the following is the correct
ascending order?

fa) 2-3-1-4

(b) 2-3-4-1

fc) 3-2-4-1

{d} 3-2-1-4

BKL-F-GHP/54A

34.

Which of the following statements are
correct about the deposits of ‘methane
hydrate’? o

1, Global warming might trigger the
release of methane gas from these
deposits.

2, 'Large depoéits of ‘methane hydrate’
are found in Arctic Tundra and
under the seafloor.

3. Methane in atmosphere oxidizes to
carbon dioxide aﬁ.er a decade or
two.

Select the correct answer using the code
given below.

fa} 1 and 2 only
(p) 2 and 3 only
{c) 1 and 3 only
(@ 1,2 and 3

35. Consider the following :

1. Carbon monoxide
2. Methane -

3. Ozone

4. Sulphur dioxide

Which of the above are released into
atmosphere due to the burning of
crop/biomass residue?

fa) 1 and 2 only
{b} 2, 3 and 4 only
fc) 1 and 4 only
{d 1,2,3 and 4

[P.T.O.
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ELESIETE F TS ) IR & T e 2
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(b) &
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¢ 235 ' |
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36. Consider the following pairs : 39. In India, the use of carbofuran, methyl
parathion, phorate and triazophos is

Sea Bordering country viewed with apprehension. These
1. Adriatic Sea : Albania chemicals are used as
2. Black Sea : Croatia . . . ]
) (a) pesticides in agriculture
3. Caspian Sea : Kazakhstan _ '
4. Mediterranean Sea @ Morocco (b) preservatives in processed foods
5. Red Sea : Syria ) {¢) fruit-ripening agents
Which of the pairs given above are
correctly matched? ’ {d) moisturising agents in cosmetics
(@ 1,2 and 4 only
(b) 1,3 and 4 only ‘
fc) 2 end S only 40. Consider the following statements
(d 1,2, 3, 4and5 1. Under Ramsar Convention, it is
mandatory on the part of the
37. Among the following, which one is the Government of India to protect and
largest exporter of rice in the world in conserve all the wetlands in the
the last five years? territory of India.
a) Chi
(o) China 5. The Wetlands (Conservation and
(b) India Management) Rules, 2010 were
() Myanmar framed by the Government of India
(d) Vietnam based on the recommendations of

Ramsar Convention.

38. Consider the following pairs . 3. The Wetlands (Conse ~vation and

Management) Rules, 2_010 also

Glacier - River .
encompass the drainage area of
1. Bandarpunch  : Yamuna catchment regions of the wetlands
2. -Bara Shigri . Chenab as determined by the authority.
3. Milam . Mandakini '
4. Siachen . Nubra Wl'uch of the statements _givcn above
jsfare correct?
_ 5. Zemn .1 Manas :
Which of the pairs given above are (@) 1 and 2 only
correctly matched? 7
(@ 1,2 and 4 | (b) 2 and 3 only
(b) 1,3 and 4 () 3 only
fcj 2 and5 _
(d) 3 and S5 (d 1,2 and 3
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(a) ¥ 1
(b) ¥4 2 IR 3
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4s. Fefafe wo w fimr Hif ;

1. m%ﬁﬁm%mﬁﬁ:ﬁmmm
T Gk T A M ¥ fafm |
= gAfderrT % W o fan

2. WA F wfauH ¥ 993 TR w g
SHH WAFEe™ 7 APl W R
T 1@ IR N wwE
i e o

I & A Ao/ T wd A
(@) Fa 1
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41. Consider the following statements : Which of the statements given above
1. Agricultural soils release nitrogen is/are correct?
oxides into environment. {a) 1 only '

9 Cattle release ammenia into b) 2' and 3 only

environment.
3. Poultry industry releases reactive (c) 4 only

nitrogen - compounds into {d 1,2,3and 4

environment. ' .
Which of the statements given above 44, Why are dewdrops not formed on a
isfare correct? ' cloudy night? '
fa) 1 and 3 only {a) Clouds absorb the radiation
(b} 2 and 3 only _ released from the Earth’s surface.
fc) 2 only () Clouds reflect back the Earth’s
(d) 1’ 2 and 3 radiation.

(c) The Earth's surface would have low

42. What is common to the places known as temperature on cloudy nights.

Aliyar, Isapur and Kangsabati? (@ Clouds deflect the blowing wind to
{a) Recently discovered uranium ground level. - '
deposits . C _
() Tropical rain forests 45. Consider the following statements :
{c} Underground cave gystems 1.. The 44th Amendment to the
(d) Water reservoirs ' o Constitution of India introduced an

Article placing the election of the

Pri . 4 iudicial
43. In the context of proposals to the use of . ¢ Minister beyond ‘Judl

hydrogen-enriched CNG (H-CNG) as fuel | review _
for buses in public transport, consider 2. The Supreme Court of India struck
the following statements : down the 99th Amendment to the

Constitution of India as being

1. The main advantage of th
¢ main advantage of the use of violative of the independence of

H-CNG is the elimination of carbon

monoxide emissions. judiciary.
2. H-CNG as fuel reduces carbon Which of the statements given above
dioxide and - hydrocarbon is / are corre_ct?
emissions. T
3. Hydrogen up to one-fifth by volume (a} 1 only
can be blended with CNG as fuel () 2 only
for buses.
4. H-CNG makes the fuel Iless (. Both 1 and 2
expensive than CNG. {d) Neither 1 nor 2
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46. Consider the following statements :

1. The motion to impeach a Judge of
the Supreme Court of India cannot
be rejected by the Speaker of the
Lok Sabha as per the Judges
(Inquiry) Act, 1968.

2. The Constitution of India defines

"~ and gives details of what
constitutes ‘ncapacity and proved
misbehaviour’ of the Judges of the
Supreme Court of India.

3. The details of the process of
impeachment of the Judges of the
Supreme Court of India are given in
the Judges (Inquiry) Act, 1968.

4. H the motion for the impeachment
of a Judge is taken up for voting,
the law requires the motion to be
backed by each House of the
Parliament and supported by a
majority of total membership of

_that House and by not less than
two-thirds of total members of that
House present and veting.

Which of the statements givén above
is/are correct?

fa) 1 and 2

fb) 3 only

{c) 3 and 4 only

f@) 1,3 and 4

47. The Ninth Schedule was introduced in

the Constitution of India during the
prime ministership of

{a) Jawaharlal Nehru
(b} Lal Bahadur Shastri
{c Indira Gandhi

{(d) Morarji Desai
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48. Consider the followirig statements :

1. Coal sector was nationalized by the
Government of India under Indira
Gandhi.

2. Now, coal blocks are allocated on
lottery basis. _

3. Till recently, India imported coal to

. meet the shortages of domestic
supply, but now India is self-
sufficient in coal production.

Which of the statements given above
is/are correct?

{a) 1 only

{b) 2 and 3 only
(c) 3 only

{d} 1,2 and 3

49. Consider the following statements :

1. ‘The Parliament ({Prevention of
Disqualification) Act, 1959 exempts
several posts from disqualification
on the grounds of ‘Office of Profit’.

2. The above-mentioned Act was
amended five times.

3. The term ‘Office of Profit’ is well-
defined in the Constitution of India.

Which of the statements given above
is/are correct?

{a) 1 and 2 only

(b) 3 only
fc) 2 and 3 only
{d 1,2 and 3

50. Under which Schedule of the

Constitution of India can the transfer of
tribal land to private parties for mining
be declared null and void?

{a) ‘Third Schedule

{b) Fifth Schedule

(] Ninth Schedule

{d) Twelfth ')S,chcdule_

[P.T.O.
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51. Consider the following statements about

Particularly Vulnerable Tribal Groups
(PVTGs) in India :

1. PVTGs reside in 18 States and one
Union Territory.

‘2. A stagnant or declining population.

is one of the criteria for determining
PVTG status.

3. There are 95 PVTGs officially
notified in the country so far.

4. Irular and Konda Reddi tribes are
included in the list of PVTGs.

Which of the statements given above are
correct? I

fa) 1,2 and 3
) 2,3 and 4
(9 1,2 and 4

{d 1,3 and 4

52. With reference to the Constitution of

India, prohibitions or limitations or
provisions contained in ordinary laws
cannot act as prohibitions or limitations
on the constitutional powers under
Article 142, it could mean which one of
the following?

{a) The decisions taken by the Election
Commission of India  while
‘discharging its duties cannot be
challenged in any court of law.

BKL-F-GHP/54A

(b). The Supreme Court of India is not

. constrained in the exercise of its

. powers by laws made by the
Parliament.

{c) In the event of grave financial crisis
in the country, the President of
India can declare Financial
' Emergency  without the counsel

- from the Cabinet.

{d) State Legislatures cannot make
laws on certain matters without the
concurrence of Union Legislature.

53. With reference to the Legislative

Assembly of a State in India, consider
the following statements :

1. The Governor makes a customary
address to Members of the House
at the commencement of the first
session of the year.

2. When a State Legislature does not
have a rule on a particular matter,
it follows the Lok Sabha rule on
that matter.

" Which of the statements given above

isfare correct?

(d) 1 only

(b} 2 only

" (¢) Both i and 2

{d) - Neither 1 nor 2

[P.T.0.
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S84, Consider the Jollowing statements :

" 1. The United Nations Convention

against Corruption (UNCAC) has a
‘Protocol against the Smuggling of
Migrants by Land, Sea and Air’.

2. The UNCAC is the ever-first legally
binding global anti-corruption
instrument,

3. A highlight of the United Nations
Convention against Transnational
Organized Crime (UNTOC) is the
inclusion of a specific chapter
aimed at returning assets to their
rightful owners from whom they
had been taken illicitly.

4. The United Nations Office on Drugs
and Crime (UNODC) is mandated
by its member States to assist in
the implémentation of both UNCAC
and UNTOC. :

Which of the statements given above are
correct? '

{a) 1 and 3 only
{b) 2, 3 and 4 only
{c) 2 and 4 only

(d 1,2,3 and 4

2. As per the Scheduled Tribes and
Other Traditional Forest Dwellers
{Recognition of Forest Rights) Act,
2006, bamboo is a minor forest
produce.

3. The Scheduled Tribes and Other
Traditional Forest Dwellers
(Recognition of Forest Rights) Act,
2006 allows ownership of minor
forest produce to forest dweliers.

Which of the statements given above
is/are correct?

{a} 1 and 2 only
(b} 2 and 3 only
(c) 3only

{d) 1,2 and 3

56. Which Article of the Constitution of India

safeguards one’s right to marry the
person of one’s choice?

{a) Article 19
55. Consider the following statements : (b) Article 21
1. As .per recent amepdment to the (c) Article 25
Indian Forest Act, 1927, forest
dwellers have the right to fell the
bamboos grown on forest areas. (d} Article 29
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57. Consider the following statements :

1. According to the Indian Patents
Act, a biological process to create a
seed can be patented in India.

2. In India, there is no Intellectual
Property Appellate Board.

3. Plant varieties are not eligible to be
patented in India.

Which of the statements given above
is/are cor_rect?

fa) 1 and 3 only

(b} 2 and 3 only

fc/ 3 only

(d) 1,2and3

58. Consider the following statements :

The Environment Protection Act, 19386
empowers the Government of India to

1. state the requirement of public
participation in the process of
environmental protection, and the
procedure and manner in which it
is sought

" 2. lay down the standards for

emission or discharge of
environmental poliutants from
various sources

Which of the statements given above
is/are correct?

fa) 1 only

() 2 only

() Both 1 and 2

(d) Neither 1 nor 2

BKL-F-GHP/54A
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. As per the Solid Waste Management

Rules, 2016 in India, which one of the
following statements is correct?

fa) Waste generator has to segregate
waste into five categories.

(b} The Rules are applicable to notified
urban local bodies, notified towns
‘and all industrial townships only.

(¢) The Rules provide for exact and

" elaborate criteria  for  the
jdentification of sites for landfills
and waste processing facilities.

{d) Itis mandatory on the part of waste
generator that the waste generated
in one district cannot be moved to
another district. :

60. Consider the following statements :

As per the Industrial Employment
(Standing Orders} Central (Amendment)

Rules, 2018

1. if rules for fixed-term employment
are implemented, it becomes easier
for the firms/companies to lay off
workers

2. no motice of termination of
employment shall be necessary in
the case of temporary workman

Which of the statements given above
is/are correct? '

(@) 1 only

{(b) 2 only
) Both 1 and 2
{d) Neither 1 mor 2

- [P.T.0.
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61. The

Service Area Approach was
implemented under the purview of

o) Integrated Rural
Programme

Development

{b) lead Bank Scheme

{c) Mahatma Gandhi National Rural
Employment Guarantee Scheme

(d} National Skill Development Mission

62. With reference to the management of

minor minerals in India, consider the
following statements :

1. Sand is a ‘minor mineral’ according
to the prevailing law in the country.

2. State Governments have the power
to grant mining leases of minor
minerals, but the powers regarding
the formation of rules related to the
grant of minor minerals lie with the
Central Government.

3. State Governments have the power
to frame rules to prevent illegal
mining of minor minerals.

Which of the statements given above
is/are correct?

{a) 1 and 3 only
b} 2 and 3 only
f¢) 3 only

(d) 1,2 and 3
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63. Consider the following statements :

1. Most of India’s external debt is
owed by governmental entities.

2. All of India’s external debt is
denominated in US dollars.

Which of the statements given above
is/are correct? .

fa} 1 only

(b) 2 only

{c) Both 1 and 2

(d) Neither 1 nor 2

64. Which of the following is rot included in

the assets of a commercial bank in
India?

{a) Advances

{b) Deposits

{c) Investments

{d) Money at call and shbrt notice

65. In the context of India, which of the

following factors is/are contributor/

contributors to reducing the risk of a

currency crisis?

1. The foreign currency earnings of
India’s IT sector

2. Increasing the
expenditure

-government

3. Remittances from Indians abroad

Select the correct answer using the code
given. below. : .

{a) 1 only
{b) 1 and 3 only

fc) 2 only
{d 1,2 and 3
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66. Which one of the following suggested that

the Governor should be an eminent
person from outside the State and
should be a detached figure without
intense political links or should not
have taken part in politics in the recent
past?

{a) First Administrative  Reforms

Commission {1966)

(b} Rajamannar Committee {1969)
{c) Sarkaria Commission {1983)

{d) National Commission to Review the
Working of the Constitution (2000}

67. Which of the following is issued by

registered foreign portfolio investors to
overseas investors who want to be part
of the Indian stock market without
registering themselves directly?

{a) Certificate of Deposit

(b) Commercial Paper

{c) Promissory Note

{d)  Participatory Note

68. Consider the following statements :

1. ‘As per law, the Compensatory
Afforestation Fund Management
and Planning Authority exists at
both National and State levels.

2. People’s participation is mandatory
in the compensatory afforestation
programmes carried out under the
Compensatory Afforestation Fund
Act, 2016.

Which of the statements given above
is/are correct? '
{a) 1 only

(b} 2 only

{c¢¢ Both 1 and 2

(d) Neither 1 nor 2
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69. In India, which of the following review

the independent regulators in sectors

like telecommunications;, insurance,

electricity, etc.?

1. Ad Hoc Committees set up by the
Parliament

2. Parliamentary Department Related
Standing Committees

3. Finance Commission

4. Financial Sector. Legislative
Reforms Commission

5. NITI Aayog

Select the correct answer using the code
given below.

{fa) 1 and 2
(b} 1,3 and 4 -
fc) 3,4and 5
{d) 2and 5

70. With reference to India’s Five-Year Plans,

which of the following statements is/are

correct?

1. From the Second Five-Year Plan,
there was a determined thrust
towards substitution of basic and -
capital good iridustries. '

2. The Fourth Five-Year Plan adopted
the objective of correcting the
earlier trend of increased
concentration of wealth and
economic power. .

3. In the Fifth Five-Year Plan, for the
first time, the financial sector was
included as an integral part of the
Plan.

Select the correct answer using the code
given below.

fa} 1 and 2 only

(b) 2 only

{c} 3 only

(d 1,2 and 3

[P.T.O.
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71. With reference to Asian Infrastructure
Investment Bank (AIIB), consider the
following statements :

1. AIIB has more than 80 member
- nations.

2. India is the largest shareholder in
AlIB.

3. AIIB does not have any members
from outside Asia.

Which of the statements given above
is/are correct?

fa) 1 only

(b} 2 and 3 only

{0 1 and 3 only

{d 1,2 and 3

" 72. What was the purpose of Inter-Creditor
Agreement signed by Indian banks and
financial institutions recently?
fa) To lessen the Government of India’s

perennial burden of fiscal deficit
and current account deficit

(hj To support the infrastructure
projects of Central and State
Governments ‘

{c) To act as independent regulator in
case of applications for loans of
¥ 50 crore or more

(d} To aim at faster resolution of
stressed assets of ¥ 50 crore or
more which are under consortium
lending

73. The Chairmen of public sector banks are
selected by the

{a) Banks Board Bureau

() Reserve Bank of India

{¢) Union Ministry of Finance

(d) Management of concerned bank
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T4.

Consider the following statements :

1. Petroleum and Natural Gas
Regulatory Board (PNGRB) is the
first regulatory.body set up by the
Government of India.

2. One of the tasks of PNGRB is to
" ensure competitive markets for gas.

3. Appeals against the decisions of
PNGRB go before the Appellate
Tribunals for Electricity.

Which of the statements given above are
correct?

{a) 1 and 2 only

(p) 2 and 3 only

{cj 1 and 3 only

(d 1,2 and 3

75. With reference to communication

- technologies, what is/are the
difference/differences  between LTE
(Long-Term Evolution) and VoLTE (Voice |
over Long-Term Evolution)?

1. LTE is com:honly marketed as 3G
and VoLTE is commonly marketed
as advanced 3G.

2. LTE is data-only technology and
VoLTE is voice-only technology.

Seélect the correct answer using the code
given below. :

{a} 1 only

(b) 2 only

fc) Both 1 and 2
{d) Neither 1 nor 2

[P.T.O.
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' 76. Which of the following statements is/are

_correct regarding the Maternity Benefit
[Améndment) Act, 20177

1. Pregnant women are entitled for
three months pre-delivery and
three months post-delivery paid
leave.

9. Enterprises with créches must
allow the mother minimum six
créche visits daily.

3. Women with two children get

reduced entitlements.

Select the correct answer using the code
- given below. :

(a} 1 and 2 only
(b} 2 only
{c) 3 only

(d) 1,2and3

. Which one of the following is not a
sub-index of the World Bank's ‘Ease of
Doing Business Index’?

{a) Maintenance of law and order
(b) Paying taxes
{(c) Registering property

(d) Dealing with construction permits
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78. In

India, ‘extended producer
responsibility’ was introduced as an
important feature in which - of the
following?

fa) The Bio-medical Waste
(Management and Handlmg] Rulcs, :
1998

(bj The Recycled Plastic
(Manufacturing and Usage} Rules,
1999

{c) The e-Waste (Management and'
_ Handling) Rules, 2011

(4} The Food Safety and Standard
Regulations, 2011

79. The economic cost of food grains to the -

Food Corporation of India is Minimum
Support Price and bonus {if any) paJd to

the farmers plus

{a) transportation cost only
(b} interest cost only

(¢ procuremeht incidentals and
distribution cost

{d) procurement incidentals  and
charges for godowms

80. In the context of any country, which one

of the following would be considered as
part of its social capital?

(a) The proportion of literates in the
population

{b) The stock of its buildings, other
infrastructure and machines '

() The size of population in the
working age group

(@ The level of mutual trust and
harmony in the society

[P.T.O.
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- 81. With reference to the Constitution f)f

India, consider the following
statements :

1. No High Court shall have the
jurisdiction to declare any central
law to be constitutionally invalid.

2. An amendment to the Constitution

of India cannot be called into

- question by the Supreme Court of
India. '

Which of the statements given above
isfare correct?

fa) 1 only

() 2 only

{c/ Both 1 and 2

_ {d}" Neither 1 nor 2

82. Consider the following statements :

1. Purchasing Power Parity (PPP)
exchange rates are calculated by
comparing the prices of the same
basket of goods and services in
different countries.

2. In terms of PPP dollars, India is the
sixth largest economy in the world.

Which of the statements given above
is/are correct? '

faj 1 only
(b} 2 only
{c) Both 1 and 2

{d) Neither 1 nor 2

BKL-F-GHP/54A

37

83. With reference to the cultivation of Kharif

crops in India in the last five years,
consider the following statements :

1. Area under rice cultivation is the
highest.

2. Area under the cultivation of jowar'
is more than that of oilseeds.

3. Area of cotton cultigtion is more
. than that of sugarcane.
4. Area under sugarcane cultivation
has steadily decreased.

Which of the statements given above are
correct?

fa}j 1 and 3 only

(p) 2, 3 and 4 only

) 2 and 4 only

@ 1,2, 3 and 4

84. Amdng the agricultural commodities

imported by India, which one of the
following  accounts for the highest

_ imports in terms of value in the last

five years?

(a) Spices

(b} Fresh fruits

(c) Pulses '

{d) Vegetable oils .

85. In the context of polity, which one of the
~ following would you accept as the most

appropriate definition of liberty?

{a) Protection against the tyranny of -
political rulers

(b) Absence of restraint

{c} Opportunity to do whatever one
likes

(d) Opportunity to develop oneself fully

[ P.T.O.
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86. Which one of the following is not the
-~ most likely measure the Government/
RBI takes to stop the slide of Indian
rupee?
fa) Curbing imports of non-essential
‘goods and promoting exports
{b) Encouraging Indian borrowers to

issue rupee dcnommated Masala
Bonds - '

{c) Easing conditions relating to
external commerclal borrowing

{d) Following - an . expansionary
monetary pohcy

87. Consider the following statements :

The Reserve Bank of India’s recent
directives  relating to ‘Storage of
. Payment . System Data’, popularly
" known as.- data, diktat, command the

payment system providers that

1. they shall ensure that entire data
relating to payment ‘systems
operated by them are stored in a
system only in India

2. they shall ensure that the systems
are owned and operated by public
sector enterpnses '

3. they shall submit the consolidated
systcm audit report to the
Comptroller and Auditor General of
India’ by the end of the calendar
year T ,.

Which of the statements given above

is/are correct? :

fa) 1 only -

) 1 and 2 only -

¢ 3only

(d 1,2 and 3
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88. Which of the following adopted a law on

data protection and privacy for its
citizens . kriown as ‘General Data
Protection Regulation’ in April 2016
-and started implementation of it from
25th May, 20187 .

(a) Australia
(b)) Canada
{¢} The Eufbpean Union'

{d) .The United States-of America

89. Recently, India signed a deal known as

‘Action Plan for Prioritization and
Impleméntation of Cooperation Areas in
theé Nuclear Field’ with which of the
following countries? '

(d) _l Japan

" (b} Russia

{c). The United Kingdom

{d} The United States of America

90. The money multiplier ih an economy
~ increases with which one of the

fol_lowing?
{a) Increase in the cash reserve ratio

(b) Increase in the banking habit of
the population

. {¢} Increase in the statutory _hquidity

ratio

(d) Increase in the populat:ton of the
country

L o [PTO.
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93. With

-

91. In the context of digital technologies for

entertainment, consider the following

statements ‘

1. In Augmented Reality (AR}, a
simulated environment is created
and the ‘physical world is
completely shut out.

2. In Virtual Reality (VR], images
generated from a computer are
projected onto real-life objecis or
surroundings.

3. AR allows individuals to be present
in the world and improves the
experience using the camera of
smart-phone or PC.

4. VR closes the world, and
transposes an individual, providing
complete immersion experience.

Which of the statements given above
is/are correct?

fa) 1 and 2 only
(bj 3 and 4

¢} 1,2 and 3
(d) 4 only

92. The word ‘Denisovan’ is sometimes

mentioned in media in reference to

fa) fossils of & kind of dinosaurs

(b} an early human species _

{c) a cave system found in North-East
India

{(d) a geological period in the history of
Indian subcontinent

reference to the recent

developments in science, which one of

the following statements is not correct?

{a) Functional chromosomes can be
created by joining segments of DNA
taken from cells of different
species, ' .

fb) Pieces of artificial functional DNA

can be created in lahoratories.

BKL-F-GHP/54A

11

() A piece of DNA taken out from an
animal cell can be made to replicate
outside a living cell in a laboratory.

{d} Cells taken out from plants and
animals can be made to undergo
‘cell division in laboratory petri
dishes.

94. Consider the following statements :

A digital signature is

1. an electronic record that identifies
the certifying authority issuing it

2. used to serve as a proof of identity
of an individual to access
information or server on Internet

3. an electronic method of signing an
electronic document and ensuring
that the original content is
unchanged

Which of the statements given above
is/are correct?

{fa) 1 only

(b} 2 and 3 only
{c) 3 omnly

(d} 1,2 and 3

95. In the context of wearable technology,

which of the following tasks is/are
accomplished by wearable devices?

1. Location identification of a person

2. Sleep monitoring of a person

3. Assisting the hearing impaired
person

Select the correct answer using the code
given below.

‘fa) 1 only

(b} 2 and 3 only.
fc} 3 only
{d) 1,2 and 3

[P.T.O.
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96. RNA interference {RNAi)’ technology has

gained popularity in the last few years.

Why?

1. It is used in developing gene
silencing therapies.

2. It can be used in developing

therapies for the treatment of
cancer.

3. It can be used to develop hormone
replacement therapies.

4, It can be used to produce crop
plants that are resistant to viral
pathogens.

Select the correct answer using the code
given below. '

fa} 1,2 and 4
() 2and 3

fc} 1and 3

{dj 1 and 4 only

97. Recently, scientists observed the merger

of giant ‘blackholes’ billions of light-

years away from the Earth. What is the

significance of this observation?

{fa) Higgs boson particles’ were
detected.

{b) ‘Gravitational waves’ were detected.

{c} Possibility of inter-galactic space
travel through ‘wormhole’ was
confirmed.

({d) It enabled the scientists to
understand ‘singularity’.

98. Which of the following are the reasons for

the occurrence of multi-drug resistance

in microbial pathogens in India?

1. Genetic predisposition of some
people

2. Taking  incorrect doses of
antibiotics to cure discases

BKL-F-GHP/54A

3. Using antibiotics in livestock
farming

4, Multiple chronic diseases in some
people . '

Select the correct answer using the code
given below.

(@ 1 and?2

(b) 2 and 3 only

) 1,3and 4

(@ 2, 3 and 4

99, What is Cas® protein that is often

mentioned in news?

fa} A molecular scissors used in
targeted gene editing

{b} A biosensor used in the accurate
detection of pathogens in patients

fc) A gene that makes plants pest-
resistant

(d} A herbicidal substance synthesized
in genetically modified crops

100. Which one of the following statements is

not correct?

{a) Hepatitis B virus is transmitted
much like HIV.

(b} Hepatitis B, unlike Hepatitis C,
does not have a vaccine,

{c) Globally, the number of people
infected with Hepatitis B and C
viruses are several times more than
those infected with HIV.

(d} Some of those infected with
Hepatitis B and C viruses do not
show the symptoms for many
years.

(P.T.0.
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Directions for the following 8¢ eight) items :
Read the following seven passages and answer the

. tems that follow each passage. Your answers ito
_ these items should be based on the passages only

_ Passage - 1

: : Political theorists no doubt have to take
history of injustice, for example, pntuuché.bility,
seriously. The concept-of historical injustice takes
_ note of a variety of historical wrongs -that

continue into the present in some form or the
other and tend to resist repair. Two reasons
" might account for resistance to repair. One, not
only are the roots of injustice buried deep in
itself constitutes _economic

history, injustice

structures  of - exploitation, ideologies  of
discrimination‘and modes of representation. Two,
the category —of- historical injustice genefally
extends across a number of wrongs such as
. ecoﬁomic "depriVation, gocial discrimination and -
lack of recognition. This category is c'omplex not
only hecause of the overlap between a number of
wrongs, but because one or the other wrong,
generally @iscrimination, tends to acquire partlal
~ autonomy from others. This is borne out by the

history of repair in Indla_.

What is the main idea that we can mfer from
the passage ?
() Untouchability in India has not ‘been
taken seriously by political theorists.
(b) . Historical injustice is ihevi_table in any
" society and is always beyond repair.
(¢) Social discrimination and deprivation
" have their roots in bad economies.

(d) Itis d_ifﬁ.cult,.' if not impossible, to repair
every manifestation of Thistorical
injustice. '

BKL-S-HJU

On the basis. of the above passage, the
following assumptions have been made :

1. Removal of economic d1smm1natmn
leads to removal of soc1al diserimination.

2. Democratic polity is the- ‘best way to
. repair historical wrongs. :

Which of the above assumptwns 1s/are valid?
(ay 1 only

(b) Zonly

(¢) Bothland2
(d) Neither 1 nor 2

. Passa_ge -2

Education plays a great transformatory role
in life, particularly so in this rapidly changing
and globalizing World Umversmes are ' the
custodians of the intellectual ‘capital and
promoters of culture and specialized knowledge.
Culture is an activity of i:houg_ht;_
receptiveness to beauty and human feelings. A

and

merely well informed man is only é bore on God’s
earth. What we should aim at is producing men
who possess both culture and expert knowledge.
Their expert knowledge will give them a firm -
ground to start from and their culture w:ll lead
them as deep as philosophy and as hlgh as art. .
Together it will 1mpart meanmg to human '

emstence

On the basis of the above passage, the,
following assumptions have been made :

"~ 1. . A society without well educated people_
cannot be transformed into a modern -
society. :

2, Without acquiring culture, a person’s
education is not complete '

Which of the above assumptlons isfare valid ?
(a) lonly :
" (b) 2only
(¢) Both1land2
{d) Neither 1 nor 2

o (a-A)
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Passage - 3 Passage — 4
Sml w which nearly all our food grows, Inequality is visible, even statistically

is a hvmg resource that takes years to form. measurable in many instances, but the economic

Yet it can vamsh in lmnutes Each year power that drives it is invisible and not

75 billion tonnes of fertile soil is lost to measurable. Like the force of gravity, power is

erosion. That is alarming — and not just for the organising principle of inequality, be it of

food producers. Soil can trap huge quantities income, or wealth, gender, race, relig'mn and -

of carbon dioxide in’ th i . : . . :
¢ in the form of organic _ region. Its effects are seenin a pervasive manner

carbon and prevent, it from escaping into the in all spheres, but the ways in which economic

atmosphere. power pulls and tilts visible economic variables

remain invisibly obscure.

4. On the basis of the above passage, the

following assumptions have been made : : o
5. On the basis of the above passage, the

following assumptions have been made :

1. Large scale soil erosion is a major
" reason for widespread food insecurity in’ 1 Tconomic power is the only reason fof
the world. ' ' the existence of inequality in a society.
-9 Soil erosion is mainly 'anthropogenic‘ 2. Inequality of different kinds, iﬁcome,
A ' " wealth, etc. reinforces power.
3. Sustainable management of soils helps

3. Econonnc power can be analysed more'

in combating qlimate change. through its effects - than by dlrect

Which of the above assumptions isfare valid ? empirical methods.

_ . Which of thé above assumptions isfare valid ?
(a) 1and2only _ :
(a) 1and2only

() 3only

. (by 3only
(¢) - 2and3only ' ' © 1and$only
@ 1,2and3 @ 1,2and3
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Pass.age =5 Passage -6
Climate change may actually benefit some ' : -
. . : A bat’s wings may look like sheets of skin.
plants by lengthening growing seasons and : : : ' '
.- . . L But underneath, a bat has the same five fingers
increasing carbon dioxide. Yet other effects of a '
as an orangutan or a human, as well as a wrist
warmer world, such as more pests, droughts, and - ' _ ' .
. ' : , connected to the same cluster of wrist bones
fleoding, will-be less benign. How will the world,
‘ ) ' connected to the same long bones of the a;rm' '
adapt ? Researchers -project that by 2050,
. ' What can be more curious than that the hand of
suitable croplands for four commodities — maize,
) . . a man, formed for grasping, that of a mole for
potatoes, rice and wheat — will shift, in some- : _
. ' digging, the leg of the horse, the paddle of the .
cases pushing farmers to plant new crops. Some

, : se, and the of the bat, should all be
farmlands may benefit from warmiing, but others porpol wing

. ' ] ) constructed on the same pattern ?
won't. Climate alone does not dictate yields; :

pohtlcal shifts, global demand and agricultural
practlces will mﬂuence how farms fare in the

future.

6.  Which one of the following is the most logica?|7- ~ Which one of the following is the most
and rational inference that can be made ~ logical, scientific and rational inference
from the above passage ? : that can be made from the above passage ?

“{a) Farmers who modernize their methods

~and diversify their fields will be in an

(a) .Diﬂ'erent species  having similar

structure of hands is an example of
advantagecus position in future. _ :

biodiversity. -
(b) Climate change will adversely aﬂ'ect the S
" crop diversity. : (b) - Limbs being used by different species for
(¢} Shifting major crops to new croplands " different kinds of v;rorl; is an example of
will lead to a great increase in the total ‘biodiversity.

area under Cultivafion and thus an . _ _ : - _
increase . in  overall agricultural {¢) Man and the aforementioned animals

production haﬁng similar structure of limbs is an

. L ) ' example of coincidence in evolution.
(d) Climate change is the most important
factor affecting the agncultural economy ~(d) Man and the aforementioned animals
in the future.

" have a shared evolufiu’nary history.
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Passage - 7

Around 56 million years ago, the Atlantic
Ocean had not fully opened and animals, perhaps
including our primate éncestors,- could walk from

‘Asia to North America through Europe and
across Greenland. Earth was warmer than it is
- today, but as the Palaeocene epoch gave way to
Eocene, it was about to get much warmer still —
rapidly and. radically. The cause was a massive
" geologically sudden release of carbon. During this
period _calle_d' Palacocene — Eocene Thermal
Maximum or PETM, the carbon injected into the
atnﬁospheré was roughly the amount that would
be injected toc_lay if humans burned all the
Earth’s reserves of coal, oil and natural gas. The
PETM lasted for about 1,50,000 years, until the
excess carbon was reabsorbed. It brought on
drought, floods, insect plagues and a few
- extinctions. Life-on Earth survived — indeed, it
prospered — but it was drastically different.

8. Based on the above passage, the following
assumptions have been made : -

1.  Global warming has a bearing on the

planet’s biological evolution.

2. Separation of land masses causes the|

. release of huge quantities of carbon into
the atmosphere. . -

3.  Increased warming of Earth’s
atmosphere can change the composition
of its flora and fauna.

4,  The present man-made global warming
will finally lead to conditions similar to
those which happened 56 million years

- ago. - ' '

Which of the assumptions given above are

valid ?

(a) land?2
(b) 3Sand4
(cy land3
d - 2 and 4
BKL-S-HJU -

10.

11.

(9-A)

@

The number of times the digit 5 will appear
while writing the integers from 1 to 1000 is

(a) 269
® 271
(© 300
@ 302

A sdlid cube is painted yellow, blue and black

such that opposite faces are of same colour.
The cube is then cut into 36 cubes of two
different sizes such that 32 cubes are small
and the other four cubes are big. None of the
faces of the bigger cubes is painted blue. How

‘'many cubes have only one face painted ?

(a) 4
& 6
{c) 8
(d 10

A and B are two heavy steel blocks. If B is
placed on the top of A, the weight increases by
60%. How much weight will. reduce with
respect to the total weight of A and B, if B is

removed from the topof A7 .
(a) 60%.

b  455%

© 40%

37-5%
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 ' Mr X’ has three children. The birthday of the

is.
o '_ﬁ:st'child- falls on the 5 Monday of April,
rth'at of the second one falls on the
sth Thursday of November. On which day is|
" . the birthday of his third child, which falls on|
20t? December ? :
(a) Monday '
(b} Thursday
(c) Saturday
(d) Sunday '
13. Consider the following Statements and
Conclusions : '
 Statements :
1. Some rats are cats.
9. . Some cats are dogs.
3. Nodogis acow.
Conclusions :
L No cow is a cat.
II. Nodogis arat.
IiI. Some cats are rats.
Which of the above conclusions isfare drawn
from the statements ?
(a) I,TlandIIl
() OnlylandlIl ,'
(9 OnlyHl
(d) Only Hand Il
14, ' The number of parallelograms that can be |
formed from a set of four parallel lines
intersecting another set of four parallel lines,
is '
(a) 18
(by 24
¢y 382
() - 36
BKL-S-HJU

15.

16.

17.

(11-A)

In a school every student is assigned a unigque

" jdentification number. A student is a football

player if and only if the identification number
is divisible by 4, whereas a student is a
cricketer if and only if the ‘identification

" pumber is divisible by 6. If every number from

1 to 100 is assigned to a student, then how
many of them play cricket as well as football-?

{a) 4

b 8
(e} 10
12z

When a runner was crossing thé 12 km mark,
she was informed that she.had completed only

'80% of the race. How many kilometres was the
~ yunner supposed to run in this event 7

(a) 14
b 15
(¢) 16
(d) 165

Raju has T 9000 with him and he wants 0
buy a mobile handset; but he finds that he has
only 75% of the amount required to buy the
handset. Therefore, he borrows ¥ 2000 from a

friend. Then

(a) Raju still does not have enough amount
" to buy the handset..

(b) Raju has exactly the same amount as
required to buy the handset.

(¢ Raju has enough amount to buy the’
handset and he will have ¥ 500 with:
him after buying the handset. '

(d) Raju has enough amount to buy the

handset and he will have T 1000 with
him after buying the handset.
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In 2002, Meenu’s age was one-third of the age

18.
- of Meera, whereas in 2010, Meenu's age was
~ half the age of Meera. What is Meenu’s year of
birth ?
(a) 1992
“(by 1994
. () 1996
(dy 1998
19. Rakesh and Rajesh together bought 10 balls
and 10 rackets. Rakesh spent. ¥ 1300 and
Rajesh spent T 1500. If each racket costs
three times a ball does, then what is the price
of a racket ? '
@. T 70
by T 90
@ T 210 .
(d) T 240
20. in a confereﬁce, out of a total 100 participanis,
70 are Indians. If 60 of the total participants
are vegetarian, then which of the following
statements is/are correct 7
1. At least 30 Indian participants are
‘vegetarian. :
2. At least 10 Indian participants are
. non-vegetarian. :
Select the “correct answér using the codes
given below : ) S
(a) lonly
(b) 2only
() Bothland2
(@ Neither 1 nor 2
BKL-S-HJU

items that follow each passage.
these items should be bused on the passages only. .

Directions for the following 8 (eight) items : pt
Read the following six passages and answer the

Your ‘answers to

Passage — 1

Low-end IoT (Internet of Things) devices are
cheap commodity items .: addressing security
would add to the cost. This class of items is
proliferating with new applications; many home
appliances, thermostats, security and monitoring
devices and personal convenience devices are
part of the JoT. So are fitness trackers, certain
medical implants and computer-like devices in
automobiles. The IoT is expected to expand
exponentially — but new security challenges are

daunting.

21. Which one of the following statements is the

most logical and rational inference that

can be made from the above passage ?

(a) Dey.elopment of enabling technelogies in
- India can be a big boost to iis
manufacturing sector. '

{(p) India is not yet fully ready to adopt ToT
-~ jn view of the imminent security

challenges.

(¢) Life becomes more comfortable with the
development _.of cheap low-end -ToT
devices. - : '

As we go digital, we mﬁst recognise the
huge threat to Internet security from

(d)

some IoT devices.

(13-A)
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E Paésage -2

With the digital phenomenon restructuring
most social sectors, it is little surprise that
global trade negotiations are now eyeing the
digital area in an attempt to pre—emptwely
. colonise it.' Big Data is freely collected or mined
from: developing countries, and converted into
digital 1ntell1gence in developed countries: This
mtelhgenoe ‘Begins to coutrol different sectors
“and “extract monopoly rents. A large forexgn
company promdmg cab service, for instance, is
not a network of cars .and drivers; it is d1g1tal
intelligence about commuting; public transport,
roads, traffic, city. events, personal behavioural
characteristics ~ of commuters and drivers .
and so on.

Whlch one of the followmg is the most logical
and rational corollary to the above
" -passage ?

- Aa)

22.

Globalization is not 111 the interests of

India as it  undermines its
" socio-economic gtructures. .
-Indla should be careful to protect its
, dlgltal soverelgnty in global trade talks.

()

0 ~ India’ should charge monopoly rents
" from multinational companies in
. exchange for Big Data.

Lo Ad) The loss of Big Data from India is
e proportmnal to the degree/value of its
" foreign trade.
23." lWhich' of the following is most deﬁm'tively
.. implied by the above passage ?
L (a) ‘Blg Data 18 the key resource in the
digital space. : :
(b) : Big economies creste B1g Data.
(c)- Access to Big Data is the prerogative of
: developed countries. ‘
(d) Access to and possession of Big Data is &
_ characteristic of developed countries.
BKL-S-HJU

. Passage -3

The rural pOOT across the world; mpludlng_
India; have contnbuted little to. human—mduced
climate change yet they are on the: fronthne ih
coping with its effects. Farmers can no longer
rely - on " historical averages for ralnfall and'

temperature, and’ the-ore frequent and extreme

weather events, such as droughts and floods, ean
spell disaster. And there are new threats, such as
sea level rise and the unpact of melting glaciers

_ on water supply.. How significant are small

farms:? As many as two billion people worldwide

'depend on them for their food and livelihood.

Small-holder farmers in India produce 41 percent
of the country’s foad grains, ‘and other food. items
that contribute to local and mnational food .
secunty

24. . What is the most logwal and ratwnal

corollary to the above passage 7.

- {a) Supportmg small = farmers is-
"~ an- important part of any agenda
regarding enwromnentally sustamable .
development. N o
Poor .countries have httle role to 'play in

(b)
- the mitigation of global Warmmg
. (¢ Due to a large number ‘- of farmer
households, India will mnot have food
‘ securlty problem in the- foreseeable
future: - :

Only small-holder farmers in Indla can
ensure feod secunty

@

25. The above passage implies that - ‘

1. There is a potentlal problem of food
insecurity in India. -~ -

2.  India will have to .strength_en.its disaster
management capabilities.

Which of the above assumptlons 1s/are vahd ?

'r(a) . 1on1y

(b) Z2only

(© Bothland2 '
d

Neither 1 nor 2

(15—A) _
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Passage - 4

A changing climate, and the eventual
efforts of governments (however reluctant)
to deal with it, could have a big impact on
investors’ returns. - Companies that

produce or .use large amounts of fossil
fuels will face higher taxes and regulatory
" purdens. Some energy producers may find
it im}joséible to exploit their known
and be left with “stranded
assets” — deposits of oil and coal that
have fo be left in -the ground. Other -
could be “affected by the

economic damage caused by more extreme

reserves,

industries

weather — storms, floods, heat waves and

" droughts.

26. On the basis of the above passagé, the

following assumptions have been made :

1.  Governments and companies need to be
" adeqguately prepared to face the climate|.
change. Co
2.  Extreme weather evenfs will reduce the

- aconomaic growth of governments and

companiés in future.

3. Ignoring climate change is a huge risk

for investors.
Which of the above a"ssumptidns isfare valid 7
(a) "1 and 2 only
(b) 3only
(¢ land3 orﬂy

@ 1,2and3

BKL-S-HJU

Passage - 5

. Acess to. schooling for those coming of
school age is close to universal, but aecess to
exhibits 2a

quality sharp gradient with

7 socio-economic status. Quqtaé for the weaker

sections. 1in private ‘.'schools js a provision
introduced by the Right of Children to Free and
Compulsory Education Act, 9009. The quotas
have imposed a debate on issues of social

integration and equity in education that private

-actors had escaped by and large. The idea of

egalitarian education . system with equality of
opportunity as its primary goal appears to be
outside the space that private school principals'
snhabit. Therefore, the imposition of the quotas

has led to resistance, sometimes justified.

97. With reference to the above 'i)assage, the

following assumptions have been made :

1.  Making equality of opportunity a reéli_tjr
is the fundamental ‘goal of the Indian
education system.

2. The 'preseht Indian- school system is
unable to provide egalitarian education.

3. Abolition schools and
establishment of more government

of private
~ schools is the only way 1o ensure
egalitarian education. o
‘Which of the ébove agsumpﬁions is/are val'id‘?
| _ (a) 1and2only
(b 9 only
" (¢) 2and3only

(d) 3only .

(17 - A)-
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Passage - 6

A majority of the TB infected in India are
poor and lack sufficient nutrition, suitable
housing and have little understanding of
prevention, TB then dévastates families, makes’
the poor poorer, particularljr affects women and
children, and leadé to osi;racisation and loss of
"employment. The truth is that even if TB does
not kill them, 'hunger and poverty will. Another
truth is that deep-seated stigma, - lack of
counselling, expensive treatment and lack of
adéquat_e support from providers and family,
coupled with torturous side-éﬂ'ects demotivate
patients to continue treatment — with disastrous

health consequenceé.

28.

logical, rdtional -and crucial message

conveyed by the above passage ?

(a}) 'TB is not a curable disease in .Indian
cir(_:umstances.

(b) Curing TB requires more than diagnosis
and medical treatment. |

(¢) Government’s surveillance mechanism is
deficient; and poor people have no access |
to treatment.

(d) India will be free from diseases like TB
only when its poverty alleviation
programmes are effectively and

~ successfully implefﬁented.
BKL-S-HJU |

Which one of the following is the most}

29.

30.

31,

(19-A)

()

A five- storeyed building with floors from I to V
is painted using four different colours and
only one colour is used to paint a floor.

Consider the following statements :-

1.  The middle three floors are painted in
diﬁ’e;'ent colours..

2. The second (II) and the fourth (IV) floors
are painted in different colours.

3. The first () and the fifth (V) floors are

painted red.

To ensure that any two consecutive ﬂoors have

different colours
(a) Only statement 2 is sufficient
(b) Only statement 3 is sufficient

Statement 1 'is not sufficient, - but
statement 1 along w1th statement 2 is
sufficient

{d Statement 3 iz not sufficient, but

statement 3 along with statement 2 is
sufficient

| P, Q and R are three towns. The' distance

between P and Q is 60 km, whereas the

- distance between P and R is 80 km. Q is in the

West of P and R is in the South of P. What is
the distance between Q and R ?.

(a) 140 km
() 130 km
(© 110km
@ 100km

All members of a club went to Mumbai and
stayed in a hotel. On the first day, 80% went
for shopping and 50% went for. s1ghtsee1ng,
whereas 10% took rest in the hotel. Which of
the following conclusion(s) can be drawn from
the above data ?

* 1.  40% members went for shoppmg as well

as sightseeing.
2. 20% members went for only shopping.

Select the correct answer using the code given |
below :

(a) 1lonly

(b) 2only

(¢) Both land 2
(d)

Neither 1 nor 2
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32.

In a school, 60% studente play ericket. ‘A

student who does not play cricket, plays
football. Every. football player has got a
two-wheeler. Which of the following
conclusions eannot be drawn from the above
data ? '

1. 60% of the students do not have

two-wheelers.
R i

2. No cricketer has a two-wheeler.

3.  Cricket players do not play foothall.
Select the correct answer using the code given
below :

(a) 1and2only
(b) 2and3 only

(¢} 1land3only

d)y 1,2 .and 3

33. The ratio of a two-digit natural number to a
number formed by reversing its digits is 4 : 7.
The number of such pairs is.

(@) 5

by 4

e 3-

@ 2 .

84. In an. examination, A has scored 20. marks
more than B. If B has scored 5% less marks
tha.r; A, how much has B scored ?

{a) 360
(b 380
(e} 400
(d) 420
BKL-S-HJU

35.

36.

131,

(-21.—A)'

' (a)

‘(a)

‘Seeta and Geeta go for a swun after a gap of

every 2 days ‘and every 3 days respec‘l’nvely If

on 18 J anuary both of them went for a’ swim

together when will they go together next ?
7th J__anu_ary T

® & January

© 12" January
(d) | 13?‘1 Janua.ry |

X, Y'and Z ai-e three contestants in a race of
1000 m. Assume that all run with diﬁ'erent

" uniform speeds. X gives Y a start of 40 m and
' X gives Z a start of 64 m. If Y and Z were to -

compete in a race of 1000 m, how many metres
start will Y glve to Z ‘? .

: (a) 20

® 25
¢y 30
(@ 35

Ifxis greater than or equal to 25 and y is less
tha.n or equal to 40 then wh1ch one of the
follomng is always correct ‘?

x is greater than y
(b) (y-x) is-greater than 15 "
(¢) (y-x)islessthanorequaltol5

(d (x +y)is greater than or equal to 65
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Ena was born 4 years. after her parents’

38.
marriage. Her mother is thiree years younger
than her father and 24 years older than Ena,

« who is 13 years old. At what age did Ené’s
father get married ? -
(a) 22 years
(b) 23 years
{c) 24 years
(d) 25 jrears '

39. Rakesh had money to buy 8 mobile handsqets
of a specific company. But the retailer offered
very good discount on that particular handset.
Rakesh could buy 10 mobile handsets with the
amount he had. What was the discount the
retailer offered ?

(@) 15%
by 20%
() 25%
d) 30%
40, 'The average.marks of 100 students are given
to be 40. It was found later that marks of one
~ student were 53 which were misread as 83.
The corrected mean marks are
(@) 39 .
(b) . 397
(c) 40
(d) 403
BKL—S-HJU

(23-A)

Directions for the following 7 (seven) items :

Read the following six paséages_ and answer the
items that follow each passage. Your answers to

| these items should be based on the passages only."

Passage -1

What étands in the .way of the
widespread and careful adoptidn of ‘Genetic
Modification (GM) technology is an
Intellectual Property Rights’ regime that
seeks _to create private monopolies for '_s.uch '
technologies. If GM technology is largely
corporate driven, it seeks to maximize
profits and that too in the short run. Thé.t
make niajor ;

is why corporations

investments for herbicidé-tolerant and

7 pest-resistant crops. Such properties have

only a short windqwr, as soon enough, pests

and weeds will evolve to overcome such

resistance. This suits the corporations. The

* National Farmers Commission pointed out

that priority must be given in genetic

_modification to. the incorporation of genes

'~ that can helﬁ impart resistance to drought,

salinity and other stresses.
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41. Which one of the following is the most
logical, rational and crucial message
conveyed by the above passage ?

@)

Public research institutions should take

_'the lead in GM technology and prioritise

(b)

{c)

(d)

the technblogy agenda.

Developing countries should. raise this
issue in WTO and ensure the abolition of
Intellectual Property Rights. -

Private, corporations should not be

allowed to do agribusiness in India,

particularly the seed business.

Present Indian circumstances do not

favour the eultivation of genetically

modified crops.

42, On the basis of the above passé.ge, the

following assumptions have been made : -

1.

The issue of effects of natural calamities
on agriculture is not given ~due
consideration by GM technolbgy

companies.

In the 1ong run, GM technology will not

-be able to solve agricultural problems

mﬁsmg due to global warming.

Which of the above assumptions is/are valid ?

(a)
(b
©
(d)

BKL-S-HJU

1 only
2 only

‘Bothland 2

Neither 1 nor 2

) (25-A)

Passage — 2

Most invaéive species are neither terribly
successful nor very harmful. Britain’s .
invasive plants are not widespread, not
spreading especially quickly,- and often leés '
of a nuisance than vigorous natives such as
bracken. Thé arrlval of new species éﬂmost

always increases biological diversity in a

‘region; in many cases, a flood of

newcomers drives no néti'vé species to
extinction. One reason is that invaders -
tend to colonise disturbed habit;etts like
polluted lakes and post-industrialh
wasteland, where little else lives‘. They are

nature’s opportunists.

Which one of the following is the most logical
and rational inference that can be made
from the above passage ?

(a) Invasive sinecies ‘ghould be used to
rchabilitate desert '.éreas and
wastelands of a counfry.

(b) Laws against the introdﬁction of foreign
plants are unnecessary.

(¢) Sometimes, the campaigns against
foreign plants are pointless.

(d) '_Folreign plants should be used to A

increase the hiodiversity of a country.
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' Passage - 3
 Diarrhoeal deaths. among Indian children.
~are mostly due to food and water contamination.
Use of eohtamjeated groundwai;,er and unsafe
chemicals in étgﬁcu.ltu;e, poor hygiene in storage
and handling of food items-to food cooked and
distributed in unhygienie surroundings; there are
myriad factors fhet need regulation and
‘momtormg People need to have awareness of
adulteration and ways of complammg to the
relevant authorities. .Surveillance. of food-borne
. diseases involves a number of government
agehcies' and entails a good training of inspection
staff.” Consi&erihg the proportion of the urban
population that depends on street food for-,its/
daily meals, ixiveeting in training and education

of street vendors is of great significance.

44. On the basis of the above passage, ‘the

followmg assumptmns have been made

1. . Food safety is a complex issue that calls

for a multipronged solution.

2. Gieat investments need to be made in
developing  the  manpower  for
-surveﬂlanCe and training. '

3. India make

legislation for governing food processing

needs = to ‘sufficient

industry.
Which of the above assum_ptions is/are valid ?

(a) 1and 2 only

() 3only
(¢} 1and3only
@ 1,2and3
BKL-S-HJU

Phésege -4
The interests of working and poor people )
in the

have historically been neglected

planning of our cities. Qur cities are
increasingly iﬁtdlerarit, unsafe 'a'nd‘ﬁ_nlivable
placee fer large numbere of citizeﬁs and -Sret we
continue to plan via the old ways — the static
Development Plan — that draws exclusively -
from - technical expertise, distanced from

people’s live expériences and needs, and”

actively excludmg large number of people |

places, activities and practlces that are an_

1n1;egral part of the city.

45. The passage seems to argue.

(a) against the monopoly of bullders and the

interests of ehte groups

(b) .against the need for global and ‘smart

cities.

{¢) 1in favour of plann,ing_eit'ies mainly for

~ working class and poor people.

(d) in favour of participation of peoples’

groups in eity planning.-

(27-A)
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Passage ~ 5

A vast majority of Indians are‘p_oor, with
barely 10 percent employed in the organised
sector. We are being convinced that vigorous
economic growth is generating substantial
employment. But this is not so. “When our
economy was growing at 3 percent per year,
employﬁ_nent fin the organised sector was

growing at 2 percent per year. As the

" economy began to grow at 7 — 8 percent per

year, the rate of growth of employment in the

organised sector actually declined to

1 percent per year.

46. The above pessege seems to imply that
1. most of modern economic growth is
_.based on technological progress.

2. much of modern Indian economy does
not nurture sufficient symbiotic
relationship with  labour-intensive,
natural resource-based livelilioods.

3. service sector in India is not very

| labour-intensive.

4,  literate rural population is not willing to

_ enter organised sector. _

Which of the statem_ente given above are
correct ? '

_(a} 1land2only

- (by 3and 4 only
(¢ 1,2and 3 only
d 1,2,3and4

BKL-S-HJU

in financial educatlon and literacy.

47.

_ - Passage - 6

India has bankmg correspondents who help
bring people in the hmterland mto the’ bank.lng
fold. For them to succeed, ban_ks cannot crimp on
costs. They also cannot eﬁ'ord to ignore inveslting
Banking
correspondents are way 00 small to be wewed as
a systemic risk. Yet India’s bankmg regulabor
has restricted them to servmg only one bank
perhaps to prevent arbitrage. Eﬂ‘orts at banking '
outreach may succeed only if there are better
incentives at work for such last-mile workers and
also those providers who ensure not just basic.
bank accounts but also products such as accident

and life insurance and micro pension schemes.

Which one of the following is * the " most
logical, rational and crucial: inference
that can be derived from the above passage ?

Efforts to bring people in India’s
hinterland into the banking system: are
not successful. '

(a)

(b) For meaningful ﬁnancﬁl inclusion,
India’s banking system needs more
number of banking correspondents and

other such last-mile workers.

Meaningful financial inclusion in India
requires that banking correspondents

(c)

_have diverse skills.

Better banking outreach would be
impossible banking
correspondent is allowed to serve a
number of banks. . Do

@

unless  each

(29-A)
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48, - What is X in the sequence 52.
132, 129, 124, 117, 106, 93,X?

(ay T4
(b) 76
(¢} 776
@ 77

49. A wall clock moves 10 minutes fast in every
24 hours. The clock was set right to show the
correct time at 8:00 a.m. on Monday. When
the clock shows the time 6:00 p.m. on
Wednesday, what is the correct time ?

. 153.
(a) 5:36 p.m.
(_b) 5:30 p.m.
(¢} 5:24pm.
(d) 5:18 p.m.

50. If the numerator and denominator of a proper-
_ fraction are increased by the same positive
quantity which is greater than zero, the
resulting ﬂ'acfion. is

(a) always less than the 6rig'mal fraction
(b) always greater than the original fraction
(c) alwayé equal to the original fraction 4.

(@ such that nothing can be claimed
definitely '

51. What is X in the sequence
4,196, 16, 144, 36, 100, 64, X ?

(a) 48
(b 64

() 125 |

(dy 256

BKL-S-HJU ' : ; (31-A)

In a group of 156 peoj:lle; 7 can read French,
8 can read English while 3 of them can read -
neither of these two languages. The number of

people who can read exactly one language is

(a) 10
(b) 9
(e} 6

d) 4

A printer numbers the pages of a book starting
with 1 and uses 3089 digits in all. How many
page's does the book have ?

(a) 1040
b 1048
@ 1049
(d) 1050

Consider the following sequence that follows

some arrangement :
c_accaa_aa_bc_b

The letters that appear in the gaps are

(a) abba
(B) cbbb
(¢ bbbb
(d) ccec



55.

56.

57.

BKL-S-HJU

Tt ofmm & @ o= ¥ ot 9% wranfian & |

wr= 3ft I W % S T o 50 kg B |

=l 3R 3% fUar % a5l 1 ofted 52 kg R
ﬂ%ﬁmmwmkg% @ HE F A
fra 2.2
(a) 48kg
() 50kg
() 52kg
(d) Bikg

Wi, s g dF geaant, €1, = 10
32 50, # w91 oy qafed AEM ¥ R | oI
%107%@1%?{%@313%%&3?@@
T TR & 2

(a) 18

» 17

{cy 18
dy 19

‘A’.mﬁtﬁmaﬂ@‘eﬁaﬂtzomm,
Sgf 3Ew fim B 3ud fawr wy | g N1 e
e 4 10 m HMYWY WS | 9 A’ T AR qE

R SERR B qfeft st gy omm e 3
F: 2 m 3R 8 m =9 (R B W i g

H 4 m T Nd G o 2R o 5 m

IO A HETEE T | AT S SR

g T HR 12 m AR A e aga
T | G shrterdl % sfter =g gt et & 2
{a) '
b)
() 19m
d)

15 m

17m

20 m

58. 2 werl, 51 31K 52 3 THH AT Y A 5w

589,

60.

(32—A)

W o Fifom -

S1: p o o 3 ansa dd & |

s2:p+qfmguiwg ) —

'W=quﬁw'{?ﬁ%?'

Frefefan 3 & A wh

(@ T8 9 W I 2 F fg sk s1 i
s

() T T I F T e s2 i

(©) ¥ T N IW ¢ & T 51 ot g2 2N
b of e T E

- (d) mmmm%ﬁ%%qsmﬁtszﬁ

EEF

%aaﬁsﬁr%:éstaﬁmémé’r%émzoosw
Feler g 2

(a)
b) 2017
{c) . 2016
() -

2018

2015

UEIT 136 ! 5B7 H T W WG TNHR TAS
8, &l A 3 B yiiw € | w5 fen mn @ %
7A3 gurda: 3%W%|meﬂw
U TR 2

(a) 2 |

(b) 5
(e) 7
d 8



85.

“A family has two children along with their
parents. The average of the weights of the
children and their mother -is 50 kg. The
average of the weights of the children and
- their father is 52 kg. If the weight of the
father is 60 kg, then what is the Welght of the
' mother ? :
‘() 48kg
() 50kg
(0 52kg
(d) B5ikg
56. - Suppose you have sufficient amount of rupee
" .. gurrency in three denominations : ¥ 1, T 10
- and ¥ 50. In how many different ways ca.n-you
pay a bill of T 107 ?
(a) 16
by 17
(© 18
(@ 19
57. ‘A’ started from his house and walked 20 m
. towards East, where his friend ‘B’ joined him.
They together walked 10m- in the same
direction. Then ‘A’ turned left while ‘B’ turned
right. and. travelled-2 m and 8 m respectlvely
_Again ‘B’ turned’ left to travel 4 m followed by , '
5 m 'to his right to reach Hlis office. ‘A’ turned
right and travelled 12 m to reach his office.
What is the shortest distance between the two|
offices ? ' '
(a) 15m
(b) 17m
(¢ 19m
(d 20m
BKL-S-HJU

 58.

59.

60.

(33-A)

Question :

(d)

Conmder two stabements 51 and S2 followed
by a question : : : .

S1: pand q both are prime numbers:
S2: p+gqisan odd infeger.
Is pq an odd integer?

Which one of the following is correct ?

{(a) S1 alone is sufficient to‘ answer the_
guestion
(b)

82 .alone is sufficient to answer the

question

(©) Both Si and S2 taken together are not

~ sufficient to answer the question

Both-S1 and S2 are necessary to answer
the question

Which year has the same calenda.r as that of
2009 ?

(@) 2018
& 2017
© 2016

(d 2015 '

Number 136 is added to 5B7 and the sum

obtained is 7A3, where A and B are integers.

1t is given that 7AS is exactly d1v131ble by 3.

The only p0551ble value of B is

(a) 2

(b) b
© 7
(d 8
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Directions for the folldwing 7 (seven) itéms :

Read . the following five passages and answer
items that follow each passage. Your answers to

these items should be based on the passages only.

Passage -1

India’s economic footprint, given its
population, still remains small compared to
the US,_ the European Union or China. It
.has much to learn from other economies,
yet must impl.ement solutions that fit its
.. unique circumstances. India ‘.especially
needs an effective loﬁg-term; regulatory
system based on coliah_oration rather than
the current top-down - approach.
Régulations seek desirable outcomes yet
are repeatedly used as political tools to
push one agenda or anothér.. Often,

regulations fail to consider inipaci;s on jobs

and economic growth — or less restrictive.

alternatives. 'Régulations may be used to

protect local markets at the expense of

more widely shared prosperity in the -

future. Additionally, reg\ﬂationé inevitably

result in numerous  unintended
con.;equencés. In today’s hyper competitive
global economy, regulations need to be
viewed as  “weapons”  that
cost-justified social and environmental
benefits while improving the economic

well-being of most citizens.

BKL-S-HJU

seek

61.

the

62.

Which one of the following is the most

logical, rational and cr’uciql " inference
that can be derived from the above passage ?

(a)

(b

(c)

(@

A better regulatory system will help
India - achieve the :size of econoxhy
appropriate to its pbpulétion. S
In a competitive global economy, Indi‘a
must use regulations strategically.
Regulations in India do not favour its
with 'bc;day’s

competitive global economy.

integration hyper
Job  creation and economic ‘growth
should be dominant considerations in
developing India’s regulatory system.

On the basis of the above passage, the

_ following assumptions have been made : .

In today’s global economy,

1.

regulations are not effectively used to
protect local markets. '

social and environmental ‘concerns are
generally ignored by the governments
across the world while implementi'ng the . -

regulations.

Which of the above_aésumptiqns is/are valid ?

(a)

(b)

{c)

(d)

(35-A) -

1 only
2 only

Both1and2

Neither Inor2
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Passage - 2

In a study, scientists compared the
microbiomes of poorly nourished and well
nourished infants and young chﬂdren. Gut
microbes were isolated from faecal samples of
malnourished and healthy children. The
microbiome was “immature” and less diverse
in malnourished children compared to the
better developed “mature” microbiome found
in healthy children of the same ,.age.'
According to some studies, the chemical
compositidn of mother’s milk has shown the
presence of a modified sugar (sialylated
oligosaccharides). This is not utilized by the
baby for its own nutrition. Howéver, the
bacteria constituting the infant’s microbiome
thrive on this sugar which serves as their
food. Malnourished mothers have low levels
of this sugar in their milk. Consequently, the
miciobiomes of their infants fail to mature.
That in turn, leads to malnourished babies.

Which one of the f(jllbwing is the most

63.

logical, rational and crucial inference

that can be derived from the above passage ?

(@) If malnourished condition in children is |
caused by gut bacteria, it cannot be
treated.

(b) The guts of malnourished babies should
be inoculated with mature microbiomes. | *-

(c} Babies of malnourished mothers should |
be fed with dairy milk fortified with
sialylated ohgosacchandes instead of

) mother’s milk.

(d) Research on belii_gn 'eﬂ'ects of gut
bacteria on nutrition has policy
implications.

' BKL-S-HJU

65.

64. - On the basis of the above passage, the

following assumptions have been made :

1.  Processed probiotic foods are a solution
to treat the children suffering from
malnutntmn due to immature gut

_ bacteria composition.

2. The babies of malnourished mothers
generally tend to be malnourished.

Which of the above assumptions is/are vahd"

(a) 1lonly

(b) 2only

(¢ Bothland?2
(d)

Neither 1 nor 2

1

Passage 3

' Temperatures have riten nearly five tlmes_
as rapidly on the Western Antarctw Peninsula
than the global average over the past five
decades. Researchers have’ now found that
meiti‘ﬁg glaciefs are causing a loss of specles
diversity among benthos in the coastal waters off
the Antarctic Pemnsula impacting an entire

seafloor ecosystem. They believe increased levels

of suspended sediment in water to be the cause of

the d—windling bibdiversity in the coastal region.

On the basus of the . above passage, the

_ ~ following assumptmns have been made :

1. Regions of glaciers warm faster than
other regions due to global warming.

2, Global warming can lead to seaﬂoor

. . sedl_mentatlon in some areas. o

3.  Melting glaciers can reduce -marine

‘ biodiversity in some areas.

‘Which of the above assumptions is/are valid?

(a) land2only
(b) Sonly

(¢) 2and 3only
(d 1,2and3

(37-A)
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Passage -4

A researeh team eiamined a long-term owl

. roost Owls’ prey on’ ‘small mammals and the

_- excreted remams of those “meals  that
accumulated over the time, provide us an

' insight mto__‘the composition and structure of

small mammals over the past millennia. The

~ research suggested that when the Earth went

- ‘ 13_,000:- years
- community was stable and resilient. But,

through .a period of, rapid warning ‘about

‘ago, the small mammal

- from the last .quarter- of the nineteenth

' _ century,

. human-made changes to the

- environment had caused an énormous drop .

" in biomass and energy flow. This dramatic"

decliné in ‘energy flow means modern

" ecosystems are not adaptmg as easily as they

BKL-S-HJU -

did in the past

On the basis "of the above ‘passage, the’
followmg assumptions have been made :
L ~ Global

~© oceurring natural phenomenon.

warm_mg is  a frequently

2. The impending global warming will not | _

adversely affect small mammals.
3. Hurans are responsible for the loss of

the Earth’s natural resilience.

Whmh of the above assumptmns 1s/are valid ?

@ 1and2 only.
~( 3only
. (l':); ' ;"...a-n‘tlB.orlly
(d 1,2 and.,S'

67.

- . Passage-5 ,

Food varieties extmctlon is happenmg alln
over the world — and it is happening fast. For
example, of the 7 OOO_apple varieties that_ were
grown during the nineteeeth century, _feWe'r than
a hundred remain. In the Phlhppmes thousands
of varieties of rice once thnved now only up to a
hundred are grown there. In China, 90 percent, of
the wheat varieties cultivated just a century ago
disappeared. . Farmers ‘in the
painstakingly bred and developed . crops well
su1ted to the pecul1ar1t1es of thelr local chmate
and environment. In the recent past our heavy

have _ past

dependence on a few high yielding varieties and
technology-driven production' and distribution of
food is causing the dwmdlmg of diversity in . food

. crops. If some mutatmg crop disease or future 2

climate change demmates the few crop plants we

- have come to depend on to feed our growmg- .

population, we Il]lght desperately need some ofi

those varieties we have let go extinet,

On the basis of . the above paSSeige, the
following assumptions have been made :

"1, ~Humans have been the main 'reason for-
the large scale extmctlon of plant
species.

2 Consumptlon of food mamly from’ locally

' cultivated crops ensures crop diversity.

3. . The present style -of production and
' distribution of food will ﬁnally lead to.
the problem of food scarczty in the near

- future. = ~
4.  Our food security "may depend on_ our
ability to preserve the locally cultwated

varieties of erops.
Which of the above assumptions are Valld 2

(@) land3

" (b) - 2and 4
{c) 2and3 .
(d) 1land4

(395A)'
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' 68 If every alternatwe letter of the Enghsh 71.
aIphabet from B onwards (mcludmg B) is
written in lower case (small letters) and the
fémaining letters are capitalized, then how is|
the first month of the second half of the year
written ?

(@) JuLy
() jULy

() jUly

d Uy

'69.  Sunita cuts a sheet of paper into three pieces.
Length of first piece is equal to the average of
the three single digit odd prime numbers.
Length of the second piece is.-equal to that of
the first plus one-third the length of the third. -
The third piece is as long as the other two

' pieces together. The Iength of the " original
-sheet of paper is
(a_) 13 units
() 15 units
{c) 16 units
(d) 30 units
70.  In the sequénce 1,5,7,8,5,7,4,83,5, 7, how | 13
many such 5s. are there which ére not
immediately précede’d by 3 but are
immediately followed by 7 ? -
(a) 1
by 2
) 3
(d) None
BKL-S-HJU h ( 41‘ —-A)

A joint family consists of seven members A,'B,

. C, D, E, F and .G with three fémales. Gis a

widow and sister-in-law of D’s father F. B.and
D are siblings and A is ciallghter-of B.C isA
cousin of B. Whois E? - '

1. Wife of F'*

2. Grandmother of A

3. Aunt of C

Select the correct answer using the code glven

- below :

(@ 1and2only
(by 2 an& 3 only
(¢ 1land3only
(d) 1,2and3

Each face of a cube can be painted in black or

white colours. In how many different ways can

.the cube be painted ?

a) 9
by 10
() 11
@ 12

" How many triplets (x, y, z) satisfy the

"equation x +y + 7 = 6, where x, y and z are

natural numbers ?

(a) 4
b 5
(cy 9
d 10
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b 1
(o) 2
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(a)
O
(c)
(d)

75.

o & e b

i s A 3 () srern % forg e

FIIE & I G

@z fraeff A, B, C, D, E 3t F %% wlignat

F93 | T A C T ATF 1 Taih A R |

3 off ¢ o S Afwad g1 §, 99 E

S =R g & | 9w st F oW s
mﬁ:ﬁm@m% B &1 Wt ~iqH &1 2 |

aft qlieneli A, I8 AW-FST IH
] g DWWA%W@(W%
AfFT 3 Piee ufenff & A =1 T@i® B %
TR B SE & ¢ W WS A F IS ¥
R R | '
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(a) =
(b) e
(c). ur=at
(d) 3l

79.

80.

BKL-S-HJU

(42—

71. H&Baﬂmwﬁl ?ﬁcaﬂwﬂw?
M
(a) THU
(b) e
() e
(@ A e

78. TR E %1 e n dea |, @ et # ¥

FAAMTEH T

(@) E® Yi® C % Wi § Afers g
(k) C % W E ¥ wi § s gm
(c) - ATHIUTIATHH <M1 &

(@) D% AwEHA grwE

STt AT AR L () FEIIn & forg 39

| N\ Bofifaa weAl, S1 3K S2, ® 9IgT I ITF W]
ﬁmﬁfia&w#q@qaﬁrmwwww

37 a1 g FHIE F IR G ¢

S1: Wig % 9 H A1, W F I A VT &
T FNE |

s2: g F IoA = T, ﬁgﬁ%mma‘lﬁ%ﬁ
Ty & A § |

ﬁnﬁﬁamﬁﬁaﬁq-m@ﬁ%?
(a) T 1 Io SThad 3
(b) W& T a9 feerad B
(© ﬂ%ﬂﬁﬁ:ﬂﬁ?ﬁm%

@ Frum a9 st 8 ﬂgﬁu’iﬁﬁq’ﬁ
frrsrEem

feftfm s fd PR R ad g 7

(a) g 1 S AAH 7

(b) TEA 1 IS A 8

() e o a5 g B |

@ ‘Frwm oo Sman ¥ ww faita =@
foran < wepan '

A)



74.

75.

Directions for the following 3 (three) items :
Read the following information and answer the
three items that follow :

10#5@1$5 is

(a) 0

® 1

) 2
S 9

An 8;digit number 4252746]3{ * leaves|

If $ means ‘divided by’; @ means ‘multiplied
by; # means ‘minus’, then the value of

remainder § when divided by 3. How many
values of B are possible 7

(a) 2
(b) 3
) 4
d 6

Six students A, B, C, D, EandF appearéd in

several tests. Either C or F scores the highest.
Whenever C scores the highest, then E scores the
least. Whenever F scores the highest, B scores
the least.

In all the tests they got different marks;

D scores higher than A, but they are close
competitors; A scores higher than B; C scores
higher than A,

76. If F stands second in the ranking, then the
posxtmn of Bis =~
(a) Third
(b) Fourth
(e} Fifth
(d). Sixth
BKL-S-HJU

7.

78.

IfB scores the least, the rank of C will be -

(a) . Second

(b) Third

(¢) Fourth
Second or third

(d)

If E is ranked third, then whlch one of the
following is correct ?

(a) E gets more marks than C
(b) C gets more marks than E
(c) ~ Aisranked fourth

D is ranked fifth

(d)

Directions for the following 2 (two) items :

Read the following statements S1 and 52 and
answer-the fwo items that follow :

79,

80.

(43-A)

Twice the weight of Schan is less than_'

S1:
the weight of Mohan or that of Rohan.
82: Twice the weight of Rohan is greater

than the weight of Mohan or that of
Sohan,

Which one of the followmg statements is
correct ?

(a) Weight of Mohan is greatest

(b) Weight of Sohan is greatest

{c)  Weight of Rohan is greatest .

(d) ‘Whose weight is greatest’ cannot be
determmed

Which one of the following statements is
correct ? '

(a) - Weight of Mohan is least

(b) - Weight of Sohan is least

(¢)  Weight of Rohan is least

(d) least’ cannot be

‘Whose weight is
determined '
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